it

142 P

1 1 B-20-01 B-20-01 B-32-01 B-32-01 B-40-01 B-40-01
2 1 BC-20-02 | BC-20-02 B-32-02 B-32-02 B-40-02 B-40-02
3 1 B-20-04 B-20-04 B-32-04 B-32-04 B-40-04 B-40-04
4 1 B-20-06 B-20-06 B-32-06 B-32-06 B-40-06 B-40-06
5 1 B-20-11/BC | B-20-11/BE | B-32-11/BC | B-32-11/BE | B-40-11/BC | B-40-11/BE
6 1 B-20-12 B-20-12 B-32-12 B-32-12 B-40-12 B-40-12
7 2 P-4x28 P-4x28 P-6x36 P-6x36 P-8x45 P-8x45
8 1 TA-M5x10 | TA-M5x10 | TA-M8x12 | TA-M8x12 | TA-M10x16 | TA-M10x16
9

é 10

£ 11 1 KJ-20 KJ-20 KJ-32 KJ-32 KJ-40 KJ-40

z 12

17 1 TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8
18 2 B-20-14 B-32-14 B-40-14

19 2 B-20-22 B-32-22 B-40-22
20 =

© System patented by MISATI, Puig i Valls, 15 08028 Barcelona (SPAIN) Tel. +34 93 440 47 27 - Fax +34 93 448 05 75 Http://www.misati.com E-mail: misati@misati.es
MISATI reserves the right to modify any characteristic of this catalogue. Check the last stage of information in www.misati.com



1 1 B-20-01 B-20-01 B-32-01 B-32-01 B-40-01 B-40-01 B-50-01 B-50-01
2 1 B-20-02 B-20-02 B-32-02 B-32-02 B-40-02 B-40-02 B-50-02 B-50-02
3 1 B-20-04 B-20-04 B-32-04 B-32-04 B-40-04 B-40-04 B-50-04 B-50-04
4 1 B-20-06 B-20-06 B-32-06 B-32-06 B-40-06 B-40-06 B-50-06 B-50-06
5 1 B-20-11/BL| B-20-11/Bl | B-32-11/BL | B-32-11/Bl | B-40-11/BL | B-40-11/BI | B-50-11/BL | B-50-11/BI
6 1 B-20-12 B-20-12 B-32-12 B-32-12 B-40-12 B-40-12 B-50-12 B-50-12
7 1 P-4x28 P-4x28 P-6x36 P-6x36 P-8x45 P-8x45 P-10x60 | P-10x60
8 1 TA-M5x10 | TA-M5x10 | TA-M8x12 | TA-M8x12 | TA-M10x16 | TA-M10x16 | TA-M10x16 | TA-M10x16
9

e 10

% = 11 1 KJ-20 KJ-20 KJ-32 KJ-32 KJ-40 KJ-40 KJ-50 KJ-50

'jE‘ 12

17 1 TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8 | TAV-M4x8
18 1 B-20-03 B-32-03 B-40-03 B-50-03

19 1 B-20-10 B-32-10 B-40-10 B-50-10
20 =

21 1 PF-20 PF-32 PF-40 PF-50

© System patented by MISATI, Puig i Valls, 15 08028 Barcelona (SPAIN) Tel. +34 93 440 47 27 - Fax +34 93 448 05 75 Http://www.misati.com E-mail: misati@misati.es
MISATI reserves the right to modify any characteristic of this catalogue. Check the last stage of information in www.misati.com



	500-recambios-BC-BE-ing
	500-recambios-BL-BI-ing

